g & M A

20201 =
SN HESAD
Bu: ZEsAY 22
Sel NP 4+F S (29l & 2)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
=R 2,882,017 2,663,337 218,680
YBoMY FX 2,774,064 2,555,384 218,680
NEEEEIR 257,448 268,663 A11.215
NEl HEs DS 90,496 101,536 A11,040
201 Lure ] 16,220 27,260 A11,040
01 AR Z2lt] 12,500 23,540 A 11,040
03 2g4+g 0 11,040 A 11,040
PERA ANNESNISE BALY
23 o= 0 11,040 A11,040
20 ONE ALLSHDS(FHHAENL) 7,760 0 7,760
401 Al&1 1 2 = CH | 15,000 0 15,000
01 Al Hi 15,000 0 15,000
OUNE 225 IS HFMH T4 15,000 0 15,000
PASEESDSE 228y
15,000,008 14} 15,000 0 15,000
405 TH&HF SH] 2,760 0 2,760
01 LS EFSH 2,760 0 2,760
OUNE A22AsDS HEMEH =4 2,760 0 2,760
>35l98 e X 330, 000! *20H 660 0 660
>898 X 100,000 #1220 1,200 0 1,200
> IH b 300, 0002 374 900 0 900
EHOIX 29 108,892 126,827 A17,935
201 Ler2 | 44,860 62,795 A17,935
02 B2 41,660 59,595 A17,935
O3 Al EFHIR X HI 37.300 55,235 A17,935
>RFEA ZHOIX S/M ST 22
2 7,790,002 7,790 25,725 A17,935
Nemes ol 25 656,020 502,833 133, 187
HBOISHE 2 2,200 4,013 ~1,813
201 Ler2 ] 2,200 4,013 £1,813
02 B2 2,200 4,013 ~1,813
O3 Al ZHIR X HI 2,200 4,013 ~1,813
>HBOIBME HAFH KX 22
2 2,200,002 2,200 4,013 ~1,813
NZHEY ZRUSAL(RNEEN) 135,000 0 135,000
308 XX £ HI S 0| & 135,000 0 135,000
10 BIIZSOICHEH 2 & 5 9 S A I b 135,000 0 135,000
ORREES MSIMAX HAX AL
135,000, 000! 141 135,000 0 135,000
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